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X = X COS(27 £1)
V = =V SN(27 £1)
a=-a,, coy2rft)
Vmax = (Zﬁf)xmax

a'max = (Zﬁf)zxmax

L
=27 |—
T

m
T=2rx X
1
F=l
=
o 10y
ox2  v? at?
Y= Vo C0S(ZE x—221)
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v . A
_ FT
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T o< (Amplitude)?
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, VEvg

v?vS

m
o=y

_F
ID_A
P=R+pgh
R =P-R
rh:QAv
iy =i
A1V1:A2V2
P+%§> v2+§>9h:constant
Q= mcAT
Q=n/
AU =Q-W

Trigonometric | dentities
(sin)? + (cosh)? =1
23n@ cosf =39n(26)
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Constants
g= 9.80% (near earth)
m
a, = 9.80?
11 N-m?
G=6.67x10 “k—gz

m. = 5.97x10% kg
re =6.38x10°m

7, =1.00x102 W,
m
m
Voound = 343?
1.000atm = 1.013x 10° Pa
kg
Pue =100x10° =Y,

1.000cal =4.186J
J
kg-C

Coue = 4186
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